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PART-II

SCHOLASTIC APTITUDE TEST

II (b) OTHER SUBJECTS

Full Marks : 100

Time : For General - 90 Minutes, For Disabled (Only Visually and Writing hand Impaired) - 120 Minutes
INSTRUCTIONS

1. All the questions of this part are relaied to the other subjects of Scholastic Aptitude Test,
2 Before answering the questions, read these instructions very carefully.
3. This part contains 100 questions.
4. Each question carries 1 mark.
5. Answer to all the questions is essential.
6. The subjects of Scholastic Aptitude Test are divided into three groups, as given below :
Subjects covered under the No. of Marks allotted to each
Sl. No. Title of the group group Full Marks questions question
(A) Scolet.lcc. Physu?s, Chemistry 40 40 1 (one)
Discipline and Biology
B) Mathematics Mathematics 20 20 1 (one)
Social Studies History, Geography
C w sE b i 40 40 1 {one
© and Humanities Civics and Economics Come)
7. The questions are to be answered on the OMR Answér-sheet supplied in the Examination Hall.
8. Every question has four alternatives, of which only one is carrect
9.

Answer to each question Is to be Indicated by darkening the number of the correct alternative In the Answer-shest from
amongst the ones given for the corresponding question in the Test (Question) Bocklet.
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Physics ( TTE&T)

A copper wire is stretched to decrease the
radius by 0.1%. Calculate the percentage
change in its resistance :

(1) 0.3%, decrease (2) 0.4%, decrease
(3) 0.4%, incrcase (4) 0.2%, increase

There are two metal spheres of same
material at
te'mperamre, but one is hollow and eother
is solid. Which sphere will expand more
if (2) they are heated to same temperature

(b) same heat is given to both ?

QnTan

volume and same 3amc

(lj a - Hollow sphere, b - solid sphere
(2)

a - Same expansion for both, b -
Hollow sphere

(3) a - Hollow sphere, b - Same

expansion for both
(4)

Between two plane parallel mirrors an
object P is placed as shown in fig.
Distances of first three images from
mirror M, will be (in cm) :

a - Solid sphere, b - Hollow sphere

é . Scm
s pe »
2&—15 cm———»
M, M,

(1) 5,10, 15
(3) 5,15, 25

£2) 5,15, 30
4) 5,25, 30

How many turns of a nichrome wire lmm
in diameter should be wound around a
porcelain cylinder with radius 2.5 cm to
obtain a heater with resistance of 20 Q ?

(Given p (Nichrome) = 1.0 x 10 Q m)
(1) 650 () 1200
(3) 100 (4) 5

L.

3.

4.

conml

L (1) 0.3%, %

[PHY-1]

%ﬁ%mﬁ@iﬂmmﬁwﬁo'l%
§ o9 B oo ¥ R gk § afea
SAE BT
2) 0.4%,

(3) 0.4%, 3% (4 0.2%, 3
T 8 O § FiT Q TE eme @ e &
MR AT § | UF T GrEW 9 gE o
¥ B T W e ofiE 2 AR (a) aNT
N UF & T qF T BeA ST (b) A &
T T S & qE 7

(1) a- SrEar A b - B A
2) a- 3 F g9 &M@, b - I AT
(3) a- 234 M, b- & & qHF S
(4) a -3 M, b - GrREE T

fa T A doh A PR R ad
gt & " Tl ¥ oadw M, § s d9
SRt 2 o ({48 &) &

5 cm
p+—

4 15cem #
M, M,

(1) 5; 10, 15 (2) 5,15, 30

(3) 5, 15, 25
20 3 JRRYY F T &Y T Y TEEE #
T AR (e = 1 ) # o awes @
st (Beam = 2.5 .41) W 9S4 #
T /et ? |
(R 7& p (Nichrome) = 1.0 x 10° Q m)
(1) 650 (2) 1200
(3) 100 (4) 5

(4) 5,25, 30
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5.~ Aball fs dropped vertically from a height 5. e aar & d 9 & % = 92w Ry ¥ T
d above the ground. It hits the ground and FrRefl ot & 1 e geft o & =R B usE
bounces up vertically to height d/2. d/2 SO % Seed P gy qfeRT Fr oy
Neglecting air resistance, its velocity v T « & & TR Fr oRedT SO et
varies with height h above the ground as : q SR & 9 Far A 7 |
vn v4 uJL - uu

N PR N d -
0 »h ¢ »h 0 *h 0 —h
22 i “® /‘/«:) :'/,/ (D)

(1) A (2)B

6. While travelling from air to water path of 6.
a sound beam is likely to be (see fig.
below) :

7. The refractive indices of glass and water "

are% and-g— respectively. For a ray of T WS B R e & wh E oon 1w ) a
light moving from glass to water, critical '
angle will be : | | B R
W) sinl = @) sint— W st @) sint 2
5 5 5 5
(3) sin'=>- (@ sin’ = 2 % @ st -
8. Which of the following is correct ? - 8. Frffed ¥ @ @ W e ?
(1) 1tesla = 4nx 107 gauss (1) 13a&r = 4n x 10771y
(2) 1tesla = 8.89 x 10° gauss (2) 139ar = 8.89 x 10° g
(3) 1tesla = 10% gauss 3) 13 = 104
(4) 1tesla = 1.98 gauss @4) 12 = 1.98 g

(26)
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10.

11.

12,

13.

.beaker.

Which of the following is renewable
source of energy ?

(1) Wood
(3) Natural gas

(2) Petroleum
(4) Uranium

Two circular coils having identical turns
and radius in the ratio 1:3 are joined in
series. Find the ratio of 1 magnetic fields at
the centres of coils :

(1) 1:9 (2) V3:1 ‘
_@3) 3:1 (4 9:1

Two objects moving along the same
straight line are leaving point 4 with
acceleration a, 2a and initial velocity 2u,

u at time ¢ = 0. The distance moved by

objects with respects to point A when one
abject, initially behind other, overtakes
the other is :

- g : 2

(1) ou’ (2) 2u”
a a

2 2

A3 e 4) 8u’
a a

A car approaches a hill with constant
speed. When it is at a distance of 0.96

km., it blows horn whose echo is heard .
by the driver 6 second later. If the speed
of sound in air is 300 m/s, calculate the -

speed of the car :

(1) 100 m/s (2) 20 m/s

(3) 50m/s (4) 70 m/s
A block of ice is floating 'in a liquid of
specific gravity 1.2 contained in a
What will happen to the liquid
level when ice completely melts ?

(1) Liquid level will increase

(2) Liquid level with decrease

(3) Liquid level with remain unchanged

(4) Depends on the size of ice block
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[PHY-3]
Frerfefen & B =i ot B 2
(1) w=h (2) WfrEm
(3) Wi W (4) T

W R A A g S P A
1:3% ogue & € Ol opm & o W ¥ g
Hal I IR gE 8 W S PR

CORIG
2) J3:1
@) 9:1

(1) 1.9
@) 3:1
A IEGL T WM F £ = 0 T @O a, 20 T
MR T 20, 4 @ T Y HAN | A D
Y gl aNr a7 B . g e wE T

TH MW o @ g, @ o A oem
Pecdt 8 : -

2 2
(1) 6u’ 2) 2u”
a a
' 4u? 82
Y )

.I @m@ﬁaﬁaﬁ'@?mﬁﬁm%

W@ 7 0.96 FBA # T WA B qMeid
e Femar B 1 R ofveaty T 6 9. @

ST g ¥ o AR wtr W A oEw & 300

AR E W IR B A P
() 100#.4A. () 20%.A.
(3) 50+ 4. (4) 70 #./3.

T ¥ W@z (e v = 1.2) ¥ @
TR WE | %D TH D WA
Uy 59 W waE H oww afteds enm ?

(1) = % wae & P A

() Za | 48 P HAE TN

(3) 7 & 7 & S FuRaRiT @
(4) o & T2 B oTER B ey

Court esy

NTSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseport al

.conml

CUCLIISLEY | €4 ) -~ |CHE-1]

14. The molecular weight of O, and N are

32 and 28 respectively. At 15°C thc
temperature of 1 g of O, will be the same
- as that 1 g of N m the same bottle at the

temperature -
(1) 56°C (2) -15°C
3) 13°C (4) -21°C

15. Which of the following processes causes
the emission of an X-ray ?

(1) Alpha emission
(2) Positron emission
(3) K-electron capture
(4) Gamma emission
16. . The IUPAC name of Ph-CH = CH-éOOH is -
(1) 3-phenylpropenoic .jicid_
(2) Cinnamic acid
(3) 1-carboxy-2-phenylethene
(4) l-phenylpropenoic acid

Which of the following is the most
reactive species ?

(1) Ci, (2) ICI
(3) Br, 4) L,
’8. The solubility of AgClin0.1 M NaCl will be -

(1) Increase

(S
~1
.

(2) Decrease
(3) Remain unchanged
(4) AgCl will dissolve completely

19. Ethylene dichloride and ethyllidene
dichloride are -

(1) Geometrical isomers
(2) Chain isomers
(3) Position isomers

(4) 'Not isomers

Downl oaded From : http://cbseportal .

14. O, 8k N, &1 sfess wX HAsT: 32 3% 28 & |
15°C AT R 131 O, % 99 T St &

13/ N, & S99 & T 8 - -
(1), 56°C  (2) -15°C
@ 13°C @ 210

15. ﬁwﬁrﬁqafia#rr%ﬁm'm&mwﬁ-—r
PRl B ?
(1) ST St
) IR S
(3) F-FwEH =R
, @) oIS .
16. Ph-CH=CH-COOH % [UPAC 717 ¥ -
(1) 3-3Faiafe s
(2) RemmEs e
(3) 1-FrEe-2-Brerel
4) 1-%fanife oie

17. ﬁﬁﬁ@fﬁ?mmﬁaﬁ—eﬁnﬁrﬁmﬂamﬁ
7

/

¢y @l (2) ICI
3) Br, @ 1
18. 0.1 M NaCl# AgCl & gemsirran &nft -
1) HgRx
2) A FH
(3) HURaERiT @

() AgClYh aw @ Rfew &
19. F@ERF SEFNEE ok wRfRRY  erewEe

Q@

(1) “afRiE smgarRt
2) O STEHm
3) Refy emdt
(4) sEErR e R

(28)
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Ozoneis

(1) An allotrope of oXygen |

(2) Anisomer of oxygen -

(3) Anisotone of oxygen.

(4) Isostructural with HO,
Match the Column A with Column B

Column A Column B
1.| Energy of mass (a)'| Four
less particles
2.| vy, | (b) | Hund rule |-
3.| Number of lobes ()| E =pc
in a 3d orbital '
other than 3d§
4.| Mutual repulsion | (d) | a’? + b?
of atomic electron
() 1-d 2-3¢ 3-b 4-a
2) 15a 2=d 3—2b 4-c¢
B3) 15c 2-5b 3-5a 4-d
4 1->c 2—->d 3-5a 4-5b

The first organjc compound which was
synthesized in the laboratory was -

(1) .Methane (2) Urea
(3) Aceticacid (4) Cane sugar

Assértion-Reason Questions :

(a) If the assertion as well as reason are

correct, and the reason is the correct
explanation of the assertion.

(b) If the assertion as well as the reason
are correct, but the reason is not the
correct explanation of the assertion.

(c) If the assertion is correct but reason
is not

[CHE-2]
20. 9 B -
(1) oiferfie T 0% Tag
(2) SRS BT T SHEEAT
. (3) SIS B AR
' (4) - STEEETEA F W H,0,
21. FEW AP Y B B AT X
P A Ff B
1. | S %9 Fof (a)| =
I
2. | wy* ()| g8 Faw
3.3 Bemm (@] E =pc
| ©® 3d T
ofell &t dem
4, | 9 SRR (@] a*+ v’
% TGN TIIoI
(I) 1-d 2->c¢ 39>b 452
2) 1l»>a 2-5d 3-5b 4-5¢
B 1->¢ 2—=b 3—9a 4-d
@ 1oc 2-d ‘Way B
22. wErTTEn ¥ vean SR A weefe fen
or -
(1) e (2) gRa
(3) oitfes o (4) =

23, AP - T 097

(@) uﬁazﬁ%mwé‘laféﬂ'a%,eﬁ'cw

T B BT B |

(b) IR I & T & T T B, AT T

mﬁﬂ%aﬁaﬂm?ﬁh
(c) IR TP T8 B AT BT AL B

Court esy

NTSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal .

24.

26.

Downl oaded From : http://cbseport al

(d) If the reason
assertion is not

Assertion : Graphite is chemically more
reactive than diamond

Reason : Diamond is very hard but
graphite is soft .
Choosé the correct answer :

(1) () (2) (b)

3) (@ (4) (a)

Cracking of propane is expected to yield -

(1) Propane and hydrogen
(2) Ethene and methane
(3) Ethane and methane
(4) Propene,

hydrogen

ethene, methane and

. Which of the following statements is

correct in context to Tyndall effect ?

(1) Scattering and polarizing of light
by small suspended particles is
called Tyndall effect.

(2) Tyndall effect of colloidal
particles is due to dispersion of
light

(3) Tyndall effect is due to refraction
of light '

(4) Zig-Zag motion of suspended

particles -

Electrolysis of dilute aqueous NaCl
solution was carried out by passing 10
miliampere (mA) current. The time (in
secomfs) required to liberate 0.01 mol of
gas at the cathode is (Given that Faraday
constant (F) = 96500 C mol™!) )

(1) 9.65x10*s (2) 19.30x 10*s

(3) 28.95x10%s (4) 38.60x 10*s

is correct but

conml

24.

25.

26.
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() & FROT 7 B AR wer H Rw mw
e ¢ I%EE € @ gee ¥ aEtE g
4 st afafeadie 2
% : IHS TET AF ¢ AT IERe T B
Sfem ST g

(1) (© (2) (b)

(3) (@) ) (@
WO 1 BRT. § IO W B s ® -

(1) 90 iR BEgee

(2) T &K Hide

(3) U9 AR W&

(4) 9, T3, 989 SR e
& qA@ & o A B H ¥ B oar gue
w7

(1) B8R frifsd # B0 yEw @ S

|

2 W@?WW%@HWW&T%
%arar%asr{ur%

(3) ﬁwwm%mﬁq%w%\
(4) Prafe w9 @ 7y erder

TR T NaCl @HEF & somifEd 10
miliampere (mA) FdAE TG & AT T4
a1 B0 F 0.01 mol W B FH A B
SATH Gy (epgd #) ¥ R (78 T gu

B0 R (F) = 96500 C mol™)

(1) 9.65x10*s (2) 19.30x 10*s
(3) 28.95x10%s (4) 38.60x10%s

(30)
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27.

28.

29,

30.

g 1

32.

Biology ( S=-=me )

The kidneys in human beings are a part of
the system for :

(1)- Nutrition (2) Respiration
(3) Excretion (4) Transportation
The xylem in plants are responsible for :

(1) Transport of water

(2) Transport of food-

(3) Transport of amino acid

(4) Transport of oxygen

The autotrophic mode - of nutrition
requires :

(1) Carbon dioxide and water
(2) Chlorophyll

(3) Sunlight

(4) All of the above

The 'breakdown of pyruvate to give
carbon dioxide, water and energy takes
place in : '

(1) Cytoplasm (2) Mitochondria
(3) Chloroplast (4) Nucleus

Which of the following is a' plant .

hormone : -
(1) Insulin (2) Thyroxin

' (3)" Océtrdgen 4) Cytok‘i.nin

The gap between two ﬁeurons is called a :
(1) dendrite (2). Synapse

(3) Axon  (4) Impulse

Downl oaded From : http://cbseportal .
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27. T H T T T B A S A G §
(1) o (2) T
- (3) IO (4) aRaeT
28. URY ¥ Tge™ SAw@Eml ®
(1) @ & T@
) ﬁmﬁm
(3) R T H TBT
(4) Jtrle @ g8
29. @ qrer % e oM ¥
(1) P STEAFIES TU1 el
(2) R
(3) wd & S
(4) SqUET G
30. TR 3 REeT § 9 W e, T
e St A 3 AR 7@ b el ®
(1) AfEEE (2) ARSI
(3) & T (4) P
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(1) =g (2) ot
(3) TEISH 4) HEwE
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33. The brain is responsible for :
(1) Thinking
(2) Regulating the heart beat
(3) Balancing the body
(4) All of the above

34. A sexual reproduction takes place
through budding in :

(1) Amoeba (2) Yeast _
(3) Plasmodium (4) Leishmania

35, Which of the following is not a part of the

femalc reproductive system in human

—beings
(1) Ovary (2) Vas deferens
(3) Uterus (4) Fallopian tube
36. The anther contains :
(1) Sepals (2) Ovules
(3) Carpel (4) Pollen grains
37. Morphologically and genetically similar |

organism is called :
(1) Colone (2) Somaclones
(3) Cosmids (4) Cybrids
Which one of these is diploid :
(1) Egg (2) Pollen
(3) Male gamate (4) Zygote

38.

39. Which one is not an oviparous animal :
(1) Snake (2) Chicken
(3) Crocodile (4) Human

40. Involuntary actions like blood pressure

salivation and vomiting are controlled by
this part of hind brain :

(1) Medals (2) Cerebellum
(3) Medulla (4) Cerebrum

Downl oaded From : http://cbseportal .com

.conml

33

36.

38.

_ ) LoLU=L]
Ao TG B
(1) d=m & R
@ eS|
(3) mﬂwaﬁragwwﬁ%m
4) IWed I
. G ST TR N A
(1) ol Q) de
() SR (4) FefEr

Pt & @ 9w & A o @ @ W o
E3E

(1) StETem (2) iy
(3) g (4) RaiE
TR F B ¥
(1) srgree (2) s
(3) sisy (4) T

ST el STgalies § § TAE g @ a0
Fed § : :

(1) @) | T

(3) e (4) Hise
T/ S W 9w i

(1) sws 2) T

@) T (@) T (T
TR | PN SfSuoTTH G B

(1) ¥ ) i

(3) TS ) 3=

. T @, PE ¥ AR AN, S g ofRes

B 7 '
(1) == Q) TEw
@3) “4) Faw
(32)
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41.

42-

43.

44.

45.

46.

If (x*'+31) is divided by (x+1), the
remainder is :

O
(3) 30

2) 1

(4) 31

If the quadratic equation x* - 3kx +

2¢7°8 . | = 0 has real roots such that the
product of roots is 7, then the value of k
is:

(1) %1 (2) +2

(3) &E3 (4) None of these
The value of (0.16)'°82> : EREY 312+ 313+ ) is:

(1) 2 (2) 3

(3) 4 (4) None of thlese

If S,, S; and S; are the sum of n, 2n and
3n terms of an Arithmetic Progression
(A.P.) then which one of the following is
true : S

(1) S;=5,+S,* @ S;=3(,-5,)

Which one of the following decimal

expansion is not terminating ?

14 . 9
1 2 T
B Fa 5 ) Fw
8 15
Y o (4)
, 24y 59 68 &
. . w2 2+ v . . rn
The equation Sin"d = 2T Y s possible if
2xy
) A=Y (2) x ="y
3) 2x=y (4) None of these

Downl oaded From : http://cbseport al
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W (x+ 1) 1431 B 9w R o B, &

41. _
ElELT i
(1) 0 @) 1
(3) 30 4) 31
42, 4R fEEe SO x? - 3kx + 2820tk 1 =0 |
%mﬁmﬁwm%%ﬁmmif
T AKkF A S :
(1) #£1 2) +2
3) +3 @) T @ 2 T
sgedl. §. 4
4B (0160 |tk i m|:mwm%
(1) 2 2) 3
(3) 4 4 T A FE T
44. 7R S, S, R S; W T AW F FEaT
n, 2n &R 3n @& B T &, Fﬁﬁ"ﬂ%if@ﬁﬁ
Eﬁ?{m%?
(1) Sy =8, +8, (2)’s3=3(s.2 -'Fsl)
! -4
3) 8;=2(5,- Sl) 8 =458
45. ﬁwﬁi@aﬂﬁs&mwammwﬁ%?
14 9
D s D Fxd
8 15
©) 24 x50 @ 23 x 32
2 2
46. Hﬁ’liﬁ'{“TSian!:iz—-'_L T ¥ iy
X)’
(1) x=y 2 x=-y
(3) 2x=y (4) T & T
)
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47. The image of the point (3, 8) in the line

X+3y=7is:
(1) (1,4) (2) (4, 1)
(3 1,-4) (4) (-4, -1)

48. A triangle ABC, right angled at A, has
points A and B as (2, 3) and (0, -1)
¢ respectively. If BC =5 units, then the

point C is :
(1) (-4,2) (2) 4,2)
(3) (3,-3) 4) (0, -4)

49. The probability of . gettmg at least one
head in tossing two coins is : '

(1) @) %

.
4
@) 2 (4) None of these
50. Two cards are drawn one by one without
replacement from a well shuffled pack of
52 cards. The probability that both being

aces is :
1 2 f: ° 2
ok 8 B
: 1
T Lo A v
@, 51 ( ) 221

51. A tree, 20m hlgh being broken by the
wind, the top struck the ground at an

angle 30°. Find the point at which the
tree is broken

(L) 14 (2) 1:3
(@) 1:2 (4) 2:3
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[MTH-2]
g (3, 8) & ¥ x + 3y = 7 3 ©nw
qicferr & s ®

(1) (1,4) 2 &1

(3) ¢1,-4)

T AYT ABC fog A R we ¥ Prd o
g A iR B & Féwm wam: (2, 3) ol
©,-1) % | IR’ BC = 5 ¢ & RgC &
frieleriep @ :

Gl e T 6]

42 @&

3 6.3 @ 04
o ol A 9B § #H-9-a 0 0 o A
s % -

1 — @ -

@ = @) 7 & B

OB TE T R A H 52 oW A & e
q 8 B e & @ wEw dn o g, &

A1 o A A ) R
2

W 5 o= -
@ = ) 1
5 ()221

20 4. Wﬂagaﬂ%ﬁ%mq;:ﬁ%é
T B TN g S & B U3 A 9 e
¥ g H F Tl W00 @ B E | A
B T forg o A AT F T v F

2) 13

A 1.9 PT i ” E

(1) 1:4
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52. The mean of the following data is 8

x 133|579 |11]1
y|e|8|15|p]| 8] 4

then the value of pis :
(1) 21 (2) 23

(3) 24 (4) 25

53. A chord of a circle of radius 12cm
subtends an angle of 120° at the centre of
circle. Find which one of the following is
area of minor segment

(1) 44.88 sqcm. (2) 44 sqcm.
(3) 88.44sqcm. (4) 440 sq cm.

54. A cone of height 8111 has a curved surface
area 188.4 square metres then its volume
is :

" (1) 200m> (2) 201.88 m?

(3) 300 m (4) 301.44 m?

55. A metallic sphere of radius ggm is
dropped into a cylindrical vessel, which
is partly filled with water. The diameter
of the vessel is 1.68 m.”If the sphere is
completely submerged, find by how
much the surface of water will rise ?

7175 em

(4) 2.75cm

(1) 1cm
(3) 2cm

56. The curved surface area of a cylindrical
pillar is 264 m® and its volume is 924 m°.

The height of the pillar is :
(1) 4m (2) 5m

3) 6m (4) 7m
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LM 1H-J]
Ry Aol & e TS B ey 8 %

JEREIN AR AR

y|le6|[8|15|p| 8] 4

H’fpiﬁrﬂﬁgi
‘) 21 @y 23
(3) 24 (@) 25

12&#%@%%@3%@%@%
¥R W 120° W AT A ¥ | W @y
TUEYE F % e § & Se-ar ©

(1) 44.88a H.H. (2) 44 T F.4.
(3) 88.44 7 .. (4) 440 aﬁ;ﬁ.wﬁ.

T G 3“3?113"8'#1, U T T S
188.4 7 Mex B, it oy H AR ¥

(1) 200 #° (2) 201.88 #F°
(3) 300 #° (4) 301.44 #°

21 4. B I @& A § N @ SR

w O TR & W g 1.68 W @w a@

I T A o R o @ AR A o
mﬁﬁ@m%amﬁw@ww
ﬁﬁmwa%m?

(1) lcm. (2) 1.75cm -

3) 2cm

%W@@ﬂﬁq@qmzmﬁz
AT T A 924 WP @ A TN N I
2

(4) 2.75cm

(1) 4m @) 5m
(3) 6m 4) 7m
(36)
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57,

58.

59.

60.

The internal and external diameters of
hollow hemispherical vessel are 24 cm
and 25 cm reSpectively. If the cost of
painting 1 cm® of the surface area is Rs.
0.05 then the total of painting the vessel
all over is :

(1) Rs.90.05 (2) Rs. 92.25

(3) Rs.95.20 (4) Rs. 96.29

In a AABC, the bisectors of /B and /C
intersect each other at a pomt O then
ABOC =

‘(1) 90°

(2} B2O% + 8

> (4) None of these

PQ is a long chord of length 8 cm of a
circie of radius 5 cm. Tang‘ents at P and
Q intersect each other at the point T then
the length of TP is :

" (1) 5¢m (2) 6 cm
3) 6—%— cm @ 6-—;— it

For which value of K the system of
equations (K -Dx -y =5and (K + Dx
+ (1 - K)y = 3K + 1 have infinite many

, solutions :
() K=2 Q) K =17
./43-}'1(_: 3

(4) K=4
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[MTH-4]

0% HEMSE e I 3 Al & o) el
A FAM 24 M. w25 G R 1 da42
TaE F I F B arg 0.05 5. & o= @

e e A A g T

58.

59.

60.

.con

(1) %.90.05 (2) €.92.25

(3) ¥.9520%. (4) %.96.29

qu%rgGrABCﬁ‘, ZB AR £C & woF &
T H g O W #ed §, & ZBOC =

LA

n =

(4) ﬁﬁ@fﬂﬁﬁﬂﬁ

(1) 9o° (2) 90°

o o 1 £

SAM Bew B wh g0 @ 8 AW, T ww
St PQ # | P 3l Q W # wst Tem g
# Rg T W aRede o=t & & TP % awrd
% '

(1) S&.5. 2) 63.4.

® 65 AR @ 6= aa.
K%WW%WWW(K_I)X_
Yy=5ME+x+ (1-Ky = 3K + 1
% R 3T & B ?

(1) K=2 2) K=7
3) K=3 4) K=4
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(77) A A 0

(C)  SOCIAL STUDIES
AND HUMANITIES

(38)
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61.

62.

63.

64.

65.
~ country. held responsible for the World

66.

History ( sfwew)

Mussolini violated the rules of League of

Nation by his successtul aggression

against - '
(1) Rhine (2) Greece

(3) Abyssinia  (4) France

The ﬁrinci_ples of Nazism are written in -
(1) Das Capital

(3)- War and Peace (4) Social Contract

(2) Mien Kamph

Hitler forimed a party named -
(1) Communist Party
(2) Labour Party
(3) Conservative Partyl
(4) Nazi Party

The impact of the French Revolutions of
1830 and 1848 in Europe was the
cmergence of - '

(1) Feudalism  (2) Class-struggle
(3) ‘Nationalism (4) Autocracy

According to the. Treaty of Versailles the

War I was
(1) England and her allies
(2) Germany and her allies
(3) Serbia and Russia
(4) Austria

The country which supported Germany in
World War I was -

(1) Italj’
(3) Russia

' (2) Austria
(4) France
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61. -W%Wm%mﬁwwﬁﬁ%
5w o7 T STEme e & fea ?
(1) = (2 Fm
'(3)a¢aﬁ#rﬁqr 4) wq -
62. AR 1 fwr forar mr -
() T A @) A7 D A
(@) IRisdad (4) AW Fewe F
63. feee X f5w wet &1 o famm ¢
(1) Fgfe
2) W& 9
(3) Forafeq qret
(4) A o
64. 1830 31 1848 & Wid &l Hifxl $ FaM &Y
U9 T8 gl -
(1) wmaEm (2) = ded
(3) TegarE (4) qrad
Gs.mmaﬁm%agqmﬁww%mm
Ryage 3 R Sowert o ? -
(1) I A & I8
(2) R AR IEH e
(3)11%@%15«
(4) st
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e ? |
(1) @ (2) St
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67.

68.

69.

70.

71

72.

Downl oaded From : http://cbseportal .com

The Industrial Revolution set in because
of - )

(1

The changes in the techniques and
organisation of production

(2)
(3)

The revolution in agriculture

The Developments in maritime
activities '
4)
Brazil}was discovered in -
(1) 1500 (2) 1505
(3) 1510 (4) 1515
Who discovered North Pole ?
(1) Captain James (2) Magellan
(3) Amundsen  (4) Robert Peary

Magna Carta or The Great Charrer was
signed in

(1) 1210
(3) 1220

The acquisition of colonies

(2) 1215
(4) 1225

On which among the following dates, the
Gandhi-Irwin Pact was signed ?

(1) 5 March, 1931 (2

- J ATALALL Wi

15 March, 1931

Consider the following events of Indian
National Movement.

1. Gandhi Irwin Pact
2. Poona Pact

Karachi Session of Indian National
Congress.

4. Individual Satyagraha |,

Select the correct chronological order of
the events from the codes given below.

(1) 1,2,3.4 2 2,3.4.1
@ 34,21 (@ 4,321

67.

70,

71.

72.

Lasans aw)

ST T W geT -

') ouET oiR e ¥ qRadw |

(2) I & mia |
3) wRE TR 3 Rew @ -
(4) SefEe % R @
i A E g -
(1) 1500 # (2) 1505 %

3) 1510 4) 15159

et O 8 T R 7

(1) I Fw  (2) IRw
(3) sFERd . (4) T T
T et & Wer T @ den & -
1) 1210 %

3) 12207

2) 1215 %
@) 1225%

e F QR RR @ R b w

HUEr I TP e AEA A9
e R

1 e & 3 weantt & W fofy &1 @
=i L 7

B W B

(D 1,2,3.4 2y 2,3,.4, 1
2) 3,4,2,1 @ 4,3,2,1
(40)
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Geography ( it )

73. V shaped contours exhibit :
- (1) River valley
(2) "Glacier
(3) Peakofa mountain

(4) Plateau

74. Rain water harvesting is an approach to 74.

sustainably manage the :
(1) Water Resources
(2) Energy Resources
(3) Food Resources
{4). Agricultural Resources

75. Soil erosion is a major problem in : 75

-(1) ‘Gandak Valley -
tZ) ;Chambal Valley
(3) Punpun Valley
(4) Ram Ganga Valley

76. Select the correct statements : 76

(a) Karnataka is famous for coffee
farming.

(b) Tamilnadu does not produce tea.

_k€¢) Kerala is famous for coconut
farming.

(d) Goa is famous for pineapple
farming.

(1) bandd (2) aandb

(3) aandd /(.4) aandc
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73. V AR & Fx @i well wwd Y

T v gRARET W SR # R F s

I B
(1) w9 e & g
(2) ot dEww # fag
(3) @M HaME &
(4) B T % R

(1) =% ol |
(2) = et #
(3) YA = 7
(4) W T oA F

. W T H T B
(a) e, T H D g oRm B
(b) ﬁﬁaﬂgﬂmwﬁm#ﬂmﬁy
(c) e, A # F B Rg sfw ®

(d) i, m#@%mq@a%.|

() bwd (2) aUGb
(3) awgd 4) atgc
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77. Damodar Valley is famous for :
(1) Iron-ore mines
(2). "Dense forest
(3) Coal mines

(4) Agriculture

78. Kaziranga National Park of Assam has 78.

been famous for :
(1) Elephants
(2) Tigers
(3) One-Horn Rhino

(4) Lions

79. Barh is emerging as a super thermal 79.

power station in the state of :
(1) Uttar Pradesh (2) Odisha

(3) Tamilnadu  (4) Bihar

80. Chemical industries are principally  80.

respopsible for :
(1) Air and land pollution
(2) Air and water pollution
(3) Land and sound pol]u_tion

(4) None of them
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81.

82,

83.

84.

Indian Railways was first started in 1853
in between :

(1) Mumbai and Pune
(2) Howrah and Seald'a'h.-
(3) Mumbai and Thane

(4) Chennaiand Coimbatore

Which o6rie city of Bihar is not situated on

the bank of river Ganga :
(1) Ara (2) Patna
3) Bhag:alpur' (4) Begusarai

National Highway 7 is the longest
highways I,of India, it connects :

(1) Kolkata to Delhi
~ (2) Varanasi to Kanyakumari
(3) Delhi to Bangaluru

(4) Varanasi to Mangalore

Which form of the spacing of contour'

li_nés.indicates gentle slope :

(1)

Contour lines are widely spaced
and are almost parallel.

(2) Contour lines are closed and pafailel.

3)

Contour lines are circular and
closer.

(4)

Contour lines are irregular,
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(2) T@el Td ferEe & &
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@) St e B % A
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SR TE ¥ ?

(1) ema (2) e
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78 gl § ¢
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CAVIUS | U iRUgA )

85. Which' one of following conditions is
wrongly listed as the essential condition
for the smooth working of democracy -

(1) Universal suffrage

(2) Free & Fair elections’
(3) Minority rule

(4) Presence of Opposition

’ the Constituent
Assembly of India was -

President of

(1) Dr. Rajendra Prasad
(2) Bhimrao Ambedkar
(3) Morarji Desai

(4) Dr. S. N. Sinha

87. The provision of "Election Commission"
for free and fair election in India has
been made through -

(1) Article 124 (2) Article 224
(3) Article 325 (4) Article 324

88. The members of Cabinet under President
System are - :

(1) Accountable to the Preside_nt
(2) Accountable to legislature
(3) .Accountable to electorate

(4) None of these
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85. fr=iifsa % & 2 @ I Sic B aweE B
HETH 9 T -

(1) arddifE FafEr
@ P g
(3) SEHEER AEH
4) fawer &t Asqedt
86. WG % WRAWM W & ofeqy B & -
(1) 2. 1% g
(2) AT Tt
(3) e e
(4) 1. wq.E.
87. W@ % Wi wf Fvw g B R gm
ST B e W B R A b ded e

mar ¥

e I < S

(1) FTgBT124  (2) o7 224

(3) FgRT325  (4) orTRT 324
88. am&ﬁqm'ﬁ#ﬁﬁw%ﬂmf_

(1) Tee & oy Soerd oy &

(2) ﬁ'ﬂﬁ%ﬁ%ﬂﬁﬁ?ﬁ‘@ﬁ%l
3) w%ﬁm@@%%]

4) o & B
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89.

90.

~ 9.

92,

The fundamental rights in. our 89

Constitution is listed from -
(1) Article 10to 25
(2) Article 12 033
(3) Article 12to 35
(4) None of these

The term of a Rajya'S'abha member in

[CIV-2]

. R dewm A oo ot # g @

ot R -
< (1) IR 10 R 25T
Q) TR 123N T
(3) AT 12 A 35T%
@) = Fag T
T T B T W eEEw W § R

90.
India is - o B -
(1) 5years (2) 6 years (1) 5 ) 6ad
-(3) undefined  (4) 4 years (3) ffemm 78 (4) 4a§
The nomination of members to legislative ~ 91. fRrm-wfRwT & weelt & = & & -
council is made by - ’
' (1) T
(1) Chief Minister 3 i
(2) President of India )
(3) Prime Minister - (3) wETE
(4) Governor (4) T
The longest Constitution of the world is 92, v 1 =8 ¥o7 &R9W B5d 37 7 8 -
of -
' 1) 9 2) HYE W IR
(1) India (2) USAI M ) '{TE.
(3) Frince (4) Italy () wig OB
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LCONUMICS { SR )

93. Planning Commission was set up in the

year :
() 1951 (2) 1950
(3) 1971 (4) 1991
| 94HI;] Rank of India in the world in 2013
was -
(1) 73 (2) 135
(3) 150 (4) 146

95. The concept of Vicious Circle of Pdvert}'
was given by :

(1) Adam Smith
(2) T.R. Malthus
(3) Karl Marx
(4) Ragnar Nurkse

96. The currency of Russia is :

(1) Dollar (2) Pound

(3) Rouble (4) Riyal

97. Demonetisation was announced by Prime
Minister Modi on -

(1) 1January, 2016
(2) 8 November, 2016
(3) 11July, 2017

(4) 28 December, 2016

Downl oaded From : http://cbseportal .com

LECO-1]
93. AT SN T oA T 9 § g e

(1) 1951 (2) 1950

(3) 1971 (4) 1991

94, 2013 % Rgm ¥ wRa B A fww IR

W o7 -
() 43 . (2) 135
(3) 150 (4) 146

95. TN B T A o T Ry o -
(1) w=w Ry
(2) A.T.AR
(3) @ e
) TR T
96. T P ¥ :
(1) s (2) 9BETs
4) ﬁ%‘

97. WEE W B R @ dvor sw Rl
B W T -

(1) 1 w=ad, 2016
(2) 8 7w, 2016

(3) 13w, 2017
(4) 28 &R, 2016

(3) =9

(46)
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|' 98. Bank Rate is the rate at which -

(1) Commercial banks lend to
- borrowers

: ' (2) Reserve Bank of India lends to
J commercial banks

(3) Co-operative banks lend to its
borrowers
None of these

l, (4)

99. Golabalisation policy was initiated by the
Government of India in the year -

(1) 1947 (2) 1977
(3) 1991 (4) 2001
100. United Nations adopted the UN

Guidelines for consumer protection in -

(1) 1951 (2) 1985

Y

(3) 1991 (4) 2001
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98. IF W TE W & B T -
(1) AP % areht @ o7 37 &

(2) o 3% ofw Rar a5 2 =
TR

(3) wEHRE 3 o WERd A W 3
21

@) ¥ q B 7 "

99. W WHR A AT B f o gwomr @
¥ # 5 df -

(1) 1947 (2) 1977

(3) 1991 (4) 2001

100. 71 T & Sudr wE B R g o Rer
s 50 9 e By -

(1) 1951 (2) 1985
(3) 1991 (4) 2001
2
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